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1. (Short-answer Questions) Answer the following questions in brief, Expect a deduction of

points for unduly lengthy answer.

(a) (5 points) What is the difference between “Law of One Price” and “Purchasing Power
Parity™?

(b} (5 points) During 1990-2012, why do the official holdings of foreign exchange re-
serves by Taiwan’s Central Bank rise sharply since 19987

2. (New Keynesian Model and Monetary Policy) Consider the following simplified version of
the New Keynesian model with intertemnporal IS curve, New Keynesian Phillips curve,

and monetary policy (Taylor rule):

X = Eixer1 —O Ry —Eymeys), 60,
Ty =PBE iy + Am+uy, 0<p<l, A>0,
R:=67‘Fg, 5>1,

where x;, R, m;, and u,; represent the output gap, the nominal interest rate, the inflation
rate, and the stochastic aggregate demand shock, respectively. Z(-) = F(-|(};) denotes the
conditional expectation given information set ;. We further assume that u, follows a

first-order autoregressive process
.t i.id. 2
Up=puyyte, 0<p<l, &g~ (0,c%).

(a) (10 points) Solve for m; and x; as functions of the exogenous shock, u;. Determine
the equilibrium response of 7; (inflation), and x; {(output gap) to a positive ageregate
demand shock. That is, determine

a]’!;> 6:c¢>
—_—t=07? —=07
3 ;<0. and x<0.

(b) Suppose that the central bank sets § = p < 1 (a passive monetary policy).
i. (5 points) What will be the equilibrium levels of inflation and the output gap?

il. (5 points) Moreover, suppose that p and B are numbers close to 1, and pf — 1.
What does this passive policy rule imply for the variability of inflation, Var(r,),
and the variability of the output gap, Var(x,;)?
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(c) (5 points) Now suppose instead that § is set to a very large positive constant, i.e.,
0 — oo (an active monetary policy). What does this active policy rule imply for the
variability of inflation and the variability of the output gap?

3. (Two-period Search Mode! and Unemployment) Consider a model in which an individual
lives two periods. He starts off the first period unen-lployed, searches and receives a job
offer for sure. In each period the worker receives a job offer of wage w; with probability n
and an offer of we with probability 1-7. If the individual accepts the offer, he will receive
the same wage both in period 1 and period 2 without separation and termination. If the
individual rejects the job, he gets an unemployment benefit of , and will search again in

period 2, Asgume that
wy<b <y,

The worker seeks to maximize his discounted lifetime income:
n+BE@), 0<p<l,

where y; is the income either from work or unemployment benefits, and E(-) refers to
the expected value. Let the reservation wage be defined as the wage such that the indi-
vidual is indifferent between accepting and rejecting an offer. Let 177 and iz denote the

regervation wages in periods 1 and 2, respectively.

(a) (5 points) Start with second period, and find ws.
(b) (5 points) Now consider the first period, and find 4.

(c) (5 points) Show that ios <, i.e., the reservation wage decreases over time.
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4. (BEASHNEERERFENN) FE—FEHEARRS VRS RREMERNR

HARRS, B e =1, 2, ZHBREEESEAT.

U

RSt 8 RAI8% ¢, R c, S RIREEE o R, FRER, 2RECIeEAABES
WEE. EREFELTH, BESBEBRHRERE Y, =1c,, v BERBMXA.
M

BRI ERS S, SRR L ERENER v, EEEER ), = 4 f(n) ¥
Bf()>0, f'()<0, ARNEHRENEETR, S w RrRRETHEE, RRESH
BB = A1)~ wn, . RRENARY,, BEREEESHIERBATE, 5
BINEURA GRS EGERES, LREAES

max d=4fn)-wn, =12,

HES:
BB — AR R, SECRSE g BRI, B/ +n =1. BEHAE

Blue,. ) MR EHAEE, WEREAHRBESY. 4b #2575 1 JHPRERENS

BRER, r RTWENE, GEEHM A, v, w7, ) RRENERE r, HEEORHERE
R (RRNBRERCHRAEREN, Bb =0, p REHRTE)

(e )+ pulcy,ly), B=1/(1+p)e(0,1),

max
g, by 1=1.2)
subjestto L +m =1, L+n,=1,
(l+7)e,+b, =d, +v, +wn,
(l+1)c, =d, + v, +wm +(1+ )b,

(1) (7 4) #HOERRHEFAEEAREREAEN—E i REEERR . Bk
Bl (=1, 2) ZFANBELFARER—REE? EXERR c BTHRE 2
B B EE A0 R T R B — B 2 FEAHBIRIE] 1, ST HBIRIE] £, 2 RIBYIRE L
R —EiEt? #UERBRERS. Ry #OBBFEERERARRENHE
ERH. ]

(2) (5 4 BRFMIEEw, £, THTLESE W, 78, FREE (1) v—REE
M DL EEE B RERE (o.0,.n, 0 RS, [RE7: HEBREENS,
THSSHEMERR. ]

(3) (5 5) BRAREFERRED <0. FREE (1) W RHEENRRENEr £
FERBEREIRE (.00, BIEE.
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(4) (5 ) BRAFERE b, TR, TE. FiREE (1) O—REREE
MRS BB EREEE (0.c,om, 1) NEE. BT BRRKSHEEXM,
HREEHEMERR. ]

(5) (7 5 FERHREIEER (1) BREHEEL, 0) BREABEL, () K
GREETER ) THEREY, SERRTHE =y RHEFTHHs =0. BR
BN TILIRERS, Br =1,=7r. PRAERS(Cc,/)=Inc,+In, & EH
B y, = An®, e (0,1 BHE R, YW, = 1,2} RRETE r R EIIERE.
(T REOERERERA S EERNE. ]

(6) (7 5) BRI 4 LF, FAH 4, TR, FEEEIENARBES M2
BB ANETE e, BBn, Bly, WELESw, RTERE r KEHR. 17
MR RTRE (5) WARE—? 135 BESEERATHRSHTS. X
REETES ]

) (75) B4 T8, EREETH 4, b BRIESENAETEANNL 2
EAIEATC,, $Hin,, By, NEIREwREENE rfgERR.
e R (5) MARE-R? iR REFEETIS. ]

®) (7 &) BREERE R, 8L, BRIEYE0AEHEATL R
KEEC,, B0, EiHy,, REIEEw RRETE r iP9ERR. (R0
2EmRE (5) WARE—R? [BF: RREETHS. ]
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